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[A-01] CH_GDP1: EIN#4LERE (RE: F—RERF)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
LOG (CH_GDP1/CH_KF1[-11)

= 0.51764 = LOG(CH_N1/CH_KF1[-11)

(5.17591)
- 0.07348 * LOG (CH_LANDDA/CH_LANDSO) + 0.01131 * (TREND-1977)
(2.06610) (2. 02445)
- 0.09058 * SPIKE (80, 1)+SPIKE (81, 1) +SPIKE (82, 1)
(5.17857)
+0.09960 * STEP (94, 1) - 0.92356
(3.87731) (2. 75125)
SUM SQ 0.0069 STD ERR  0.0239 LHS MEAN  0.7803
R SQ 0.9405 R BAR SQ@ 0.9157 F 5, 12 37.9221
D.W. 2.5366

[A-02] CH_GVINSE: #3E(E (RE: I #¥: EHTCEHA)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
LOG (CH_GVINSE/CH_KF INSE[-11)

= 0.29384 * LOG(CH_NWINSE/CH_KF INSE[-11)

(27.1162)
- 0.05222 * SPIKE (81, 1)+SPIKE (82, 1) +SPIKE (83, 1)
(4.54327)
- 0.03955 * SPIKE(89,1) - 0.07771 = SPIKE (90, 1)+SPIKE (91, 1)
(2. 28420) (5. 96372)
+ 0.43400
(44.4793)
SUM SQ 0.0035 STD ERR  0.0165 LHS MEAN  0.1899
R SQ 0.9873 R BAR SQ 0.9834 F 4, 13 252.310
D.W. 2.0984

[A-03] CH_GVINNSE: #37EflE (RE: T%¥: FEHLEEM)
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
LOG (CH_GVINNSE/CH_KF INNSED[-1]) 0. 177435%L0G (CH_NINNSE/CH_KF INNSED[-11)
= 0.46541 * LOG (CH_KF INNSEF [-1]/CH_KF INNSED[-11)
(17. 6398)
- 0.44143 * SPIKE (82, 1)+SPIKE (83, 1) +SPIKE (84, 1)

(4. 43209)
+0.23385 * SPIKE(92, 1) +SPIKE (93, 1)+SPIKE (94, 1) + 2. 83643

(2.19768) (18.8101)
SUM SQ 0.2459 STD ERR  0.1431 LHS MEAN  0.3170
R SQ 0.9816 R BAR SQ@ 0.9770 F 3, 12 213.163
D.W. 1.7180

[A-04] CH_GVIN(IDENTITY) @ #E({E (EE:X I%)
CH_GVIN
= CH_GVINSE+CH_GV INNSE

[A-05] CH_GDP2: EIN#4AEE (EH: E_REH)
COCHRAN-ORCUTT
ANNUAL DATA FOR 18 PERIODS FROM 1979 TO 1996

CH_GDP2
= 0.23404 = (CH_GVINSE+CH_GVINNSE) + 2572.31
(18.9817) (2.17987)
SUM SQ 411822 STD ERR  165.695 LHS MEAN 7967.09
R SQ 0.9991 RBARSQ 0.9989 F 2, 15 8026.54
D.W. 1.9699
AR_O = + 0.86979 * AR_1

(6. 60730)

[A-06] CH_GDP3: EINM4FE (RE: BE=ZREX)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
LOG (CH_GDP3/CH_KF3[-11)
= 0.50998 * LOG(CH_N3/CH_KF3[-1]) + 0.01928 * (TREND-1977)

(3. 68207) (2. 43665)
+0.07730 * SPIKE (78, 1)+SPIKE (79, 1)
(3.84397)
+ 0.07695 * STEP (85, 1)-STEP (90, 1) - 0.08949 * STEP (95, 1)
(6. 75672) (3. 75144)
- 1.03985
(18. 8346)
SUM SQ 0.0051  STD ERR 0.0207 LHS MEAN -0.9045
R SQ 0.9634 R BAR SQ 0.9482 F 5, 12 63.2084
D.W. 2.1714

[A-07] CH_GDP (IDENTITY) : EIRN#&EE (EE)
CH_GDP = CH_GDP1+CH_GDP2+CH_GDP3+CH_DSCGDP

[A-08] CH_GDPN(IDENTITY) : EIN#4RE (% 8)
CH_GDPN = CH_GDP*CH_PGDP/100



B. XJovy

[B-01] CH.CPR: BRHE (RE: &)
ANNUAL DATA FOR 18 PERIODS FROM 1979 TO 1996

CH_CPR
= 0.49542 = CH_CPR[-1] + 0.37009 * CH_YHR/CH_PCPR*100
(10. 3029) ( 9.6051)
+ 0.16542 * CH_TDPR[-1]/CH_PCPR*100 - 138.671 * SPIKE (93, 1)
(2.56499) (2. 40300)
+ 266. 391
(2. 61416)
SUM SQ  35517.1 STD ERR  52.2693 LHS MEAN 4822.18
R SQ 0.9992 R BAR SQ@ 0.9990 F 4, 13 4047.11
D.W. 2.2906 H -0. 9578

[B-02] CH_CPU: ERHE (RH: &)
ANNUAL DATA FOR 16 PERIODS FROM 1981 TO 1996

CH_CPU
= 0.26212 * CH_CPU[-1]
(2. 35271)
+0.59599 * (CH_YHU+CH_INR*CH_TDPU[-1]/100) /CH_PCPU*100
(7.69284)
+ 231.881 x SPIKE(88, 1) + 151.607 = SPIKE (91, 1)+SPIKE (92, 1)
(3.25631) (2. 76099)
+ 266. 720
(4.98080)
SUM S@  51438.3 STD ERR  68.3828  LHS MEAN 4179.02
R SQ 0.9994 R BAR SQ 0.9991 F 4, 11 4348.60
D.W. 1.2418 H 1. 6041

[B-03] CH_GP(IDENTITY): BEHEZE (EE: #ih
CH_CP
= CH_CPR+CH_CPU

[B-04] CH_CG(IDENTITY) : #t=iH#& (&)
CH_CG
= CH_CGN/CH_PCP*100

[B-05] CH_C(IDENTITY): #H% (EE)
CH_C
= CH_CP+CH_CG

[B-06] CH_IFD: BEIEEERE (RE: BEALRR)
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995

CH_IFD-CH_GEEG/CH_P1F*100
= 0.27820 * (CH_GDEN-CH_YW-CH_TAXINCM+DIFF (CH_COS)) /CH_PI1F*100

(32.4722)
- 38.6970 * CH_INR-PCH(CH_PIF)
(4.28995)
- 602.216 = SPIKE (84, 1)+SPIKE (85, 1)
(3. 48433)
- 608. 008 * SPIKE (89, 1)+SPIKE (90, 1)+SPIKE (91, 1)
(4.34149)
- 800.898 * SPIKE(94,1) - 441.154
(3.14191) (3.56316)
SUM SQ 515412  STD ERR  207.246  LHS MEAN 2949.21
R SQ 0.9934 RBAR SQ@ 0.9906 F 5, 12 360.364
D.W. 2.2152
[B-07]1 GH_IF (IDENTITY): EEEEIRXE (RE: #EH
CH_IF
= CH_IFD+CH_IFF

[B-08] CH_IF1(IDENTITY): BEEEERE (RE: F—REH)
CH_IF1
= GH_RIF1%CH_IF/100

[B-09]1 CH_IFINSECIDENTITY): BEIEEERE (RE: 1% EAELCEHM
CH_IFINSE
= CH_RIFINSE*CH_RIF INxCH_IF/10000

[B-10] CH_IFINNSED (IDENTITY) : B &ERE (RE: TH: FEFCREM: EBRLE)
CH_IF INNSED
= GH_RIFINNSED*CH_RIF IN%CH_IF /10000

[B-11] CH_IFINNSEF (IDENTITY) : B &EERE (RE: TH: FEFCREM: SELF)
CH_IF INNSEF
= GH_RIFINNSEF*CH_RIF IN%CH_IF /10000

[B-12] CH_IFCT(IDENTITY) : BEE&ERE (RE: BEHX)
CH_IFCT
= GH_RIFCT*CH_IF/100

[B-13] CH_IF3(IDENTITY): BEEEERE (RE: E=ZREH)
CH_IF3
= GH_RIF3*CH_IF/100



[B-14] CH_J: ZEEMBZM(RE)
ANNUAL DATA FOR 14 PERIODS FROM 1982 TO 1995

CH_J
= 26.6667 * PCH(CH_GDE[-3]) + 0.05364 * CH_GDE
(2.26312) (8.70255)
+ 0.03446 * SPIKE (85, 1) *CH_GDE
(2.29725)
+ 0.04577 * (SPIKE (89, 1) +SPIKE (90, 1)) *CH_GDE - 268. 605
(6.57815) (1.54910)
SUM SQ 233272 STD ERR  160.994  LHS MEAN 1103. 58
R SQ 0.9307 RBAR SQ@ 0.8999 F 4, 9 30.2332
D.W. 2. 4472

[B-15] CH_NEX: #fisit (328)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995

CH_NEX
= + 0.58945 * (CH_EXMN+CH_EXSN) / (CH_PEXM/4. 7832) — (CH_IMMN+CH_IMSN) / (CH_P IMM
/4.7832)
(8. 16006)
- 723.732 = SPIKE(82,1) - 286.003 * SPIKE (86, 1)
(8.46102) (3.38197)
- 352.282 * SPIKE (91, 1)+SPIKE (92, 1) + 318.036 * SPIKE(93, 1)
(4. 66805) (3. 73029)
+ 799.508 * SPIKE(94,1) + 1114.87 * STEP(95,1) + 239.424
(8.99618) (12. 3650) (9. 24544)
SUM SQ  64231.4 STD ERR  80.1445 LHS MEAN 255. 657
R SQ 0.9834 R BAR SQ 0.9718 F 7, 10 84.7091
D.W. 1.8797

[B-16] CH_GDE(IDENTITY): EIRN#ZH (EH)
CH_GDE
= CH_CP+CH_CG+CH_IF+CH_J+CH_NEX

[B-17]1 CH_CPN(IDENTITY): BRHEZ (&H)
CH_CPN
= CH_CPR*CH_PCPR/100+CH_CPU%CH_PCPU/100

[B-18] CH_CGN: #t <K& (&B)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
CH_CGN
= 1.77156 * (CH_GESC+CH_GEAD+CH_GEND+CH_GEO)
(69.0332)
+ 142.570 * STEP (79, 1)-STEP (85, 1)
(2. 71352)

- 313.604 * SPIKE (89, 1)+SPIKE (90, 1)+SPIKE (91, 1)

(5. 69576)
+ 353.962 * SPIKE(94, 1) - 389.161
(3.66114) (7. 45915)
SUM SQ  85956.5 STD ERR  81.3144 LHS MEAN 2146.54
R SQ 0.9986 R BAR S@ 0.9981 F 4, 13 2252.69
D.W. 1.8038

[B-19] CH_IFN(IDENTITY): EEEZEERE (&8)
CH_IFN
= CH_IF*CH_PIF/100

[B-20] CH_J(IDENTITY): ZEE&RZEM(&E)
CH_JN
= CH_J*CH_PIF/100

[B-211 CH_NEXN: #figgiit (& B)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995

CH_NEXN
= 0.99794 * (CH_EXMN+CH_EXSN-CH_IMMN-CH_IMSN) *CH_RATE/100
(381.377)
+ 27.8053 * SPIKE (78, 1)+SPIKE (79, 1) +SPIKE (80, 1)
(10. 0497)
- 20.1676 * SPIKE (93, 1)+SPIKE (94, 1) + 2.23993
(6.19283) (1.82828)
SUM SQ 254.699 STD ERR  4.2653 LHS MEAN 84.3275
R SQ 0.9999 RBARSQG 0.9999 F 3, 14 NC
D.W. 2. 6480

[B-22] CH_GDEN(IDENTITY) : EAR#xt (% 8)
CH_GDEN
= CH_CPN+CH_CGN+CH_ | FN+CH_JN+CH_NEXN

C. FissE-20it7ovy

[C-01] CH_YW(IDENTITY): BT I &
CH_YW
= CH_WAGE=*CH_NW/10000



[C-02] CH_YHU: J&EAT#E (&)
ANNUAL DATA FOR 16 PERIODS FROM 1981 TO 1996

CH_YHU
= 2.01214 x CH_YW + 657. 331 = STEP (81, 1)-STEP (86, 1)
(54. 5575) (5.17014)
+ 761.061 * SPIKE(95,1) + 1772.93 * STEP(96,1) - 1460.12
(3.06035) (6. 44042) (10. 7320)
SUM SQ 310018 STD ERR  167.879  LHS MEAN 5518.00
R SQ 0.9993 R BAR S@ 0.9991 F 4, 11 3963.32
D.W. 1. 4496

[C-03] CH_YHR: FEEFM#F (B
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995

CH_YHR
= 1.13813 * CH_GDP1*CH_PFSP/100
(33. 0240)
+ 0.04607 * CH_RGVINTVEN*CH_GVIN+CH_RP1/10000
(7.13660)
+ 362.679 * STEP (84, 1)-STEP(88,1) - 378.404 * SPIKE(89, 1)
(5. 00459) (2.70825)
+ 696.047 * SPIKE (92, 1)+SPIKE (93, 1) + 207.939
(7.39781) (2.51393)
SUM SQ 171274  STD ERR  119.469  LHS MEAN 5296. 96
R SQ 0.9994 R BAR SQ 0.9992 F 5, 12 4004.50
D.W. 2.3180

[C-04] CH_KF1(IDENTITY): BEAR bv ¥ (RE: F—REX)
CH_KF1
= (1-CH_RDEP/100) *CH_KF1[-1]+CH_IF1

[C-05] CH_KFINSECIDENTITY): EAXR bw ¥ (EE: IT¥: EACFEM)
CH_KF INSE
= (1-CH_RDEP/100) *CH_KF INSE [-1]+CH_IF INSE

[C-06] CH_KFINNSED (IDENTITY): BEAX by ¥ (RE: IT¥: FEALEXEM EBRNEHE)
CH_KF INNSED
= (1-CH_RDEP/100) *CH_KF INNSED [-1]+CH_IF INNSED

[C-07] CH_KFINNSEF (IDENTITY): BEAX by ¥ (RE: IT#¥: FEACEXHEM SEEZE)
CH_KF INNSEF
= (1-CH_RDEP/100) *CH_KF INNSEF [-1]+CH_IF INNSEF

[C-08] CH_KFCT(IDENTITY): EARX by ¥ (RE: BEX)
CH_KFCT

= (1-CH_RDEP/100) *CH_KFCT [-1]+CH_IFCT

[C-09] CH_KF3(IDENTITY): BEAR bv Y (EE: EZREH)
CH_KF3
= (1-CH_RDEP/100) *CH_KF3[-1]1+CH_IF3

[C-10] CH_KF(IDENTITY): &AXRRX kv ¥ (EE: #5)
CH_KF
= CH_KF1+CH_KF INSE+CH_KF INNSED+CH_KF | NNSEF+CH_KFCT+CH_KF3

[C-11] CH_KFF(IDENTITY) : BEAR kv ¥ (RE: EERE)
CH_KFF

= (1-CH_RDEP/100) *CH_KFF [-1]+CH_IFF
D. F®IOvYy

[D-01] CH.NT: miZH (BB—REX)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995

LOG (CH_NT)
= 0.63627 * LOG(CH_N1) [-1] + 0. 05552 * LOG (CH_GDE)
(5.20819) (2.99541)
+ 0.03630 = SPIKE (82, 1)
(3. 05842)
+0.02226 * SPIKE (89, 1)+SPIKE (90, 1) +SPIKE (91, 1)
(2.58911)
- 0.03780 * STEP(93,1) + 3.24461
(3.26270) (2.91591)
SUM SQ 0.0015 STD ERR ~ 0.0111  LHS MEAN 10. 3647
R SQ 0.9793 R BAR S@ 0.9707 F 5, 12 113.580
D.W. 1.5195 H 0.0014

[D-02] CH_NWINSE: mi%#& (T¥: EHREEEA)
ANNUAL DATA FOR 26 PERIODS FROM 1970 TO 1995
LOG (CH_NWINSE)
= 0.68682 * LOG(CH_NWINSE) [-1] + 0.10926 * LOG (CH_GVINSE)

(13.1189) (3. 95453)
- 0.05294 * STEP(93,1) + 1.60461
(3.23252) (7.98075)
SUM SQ 0.0083 STD ERR  0.0194 LHS MEAN  8.1327
R SQ 0.9947 RBAR SQ 0.9940 F 3, 22 1372.89
D.W. 1.1790 H 1.9759



[D-03] CH_NINNSE: mi%#E (L%: JFEAREFHENL)
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995
LOG (CH_NINNSE)
= 0.51821 * LOG(CH_NINNSE) [-1] + 0. 38440 * LOG (CH_GDE)

(5. 45079) (4. 94081)
- 0.27215 * LOG(CH_YW/CH_GDE) - 0.06403 * SPIKE(83, 1)
(3. 62039) (2.69734)
+ 0.05304 * SPIKE(86,1) - 0.13140
(2.52242) (0.23423)
SUM SQ 0.0042 STD ERR  0.0196 LHS MEAN  8.4634
R SQ 0.9953 R BAR S@ 0.9931 F 5, 11 464.028
D.W. 2.4689 H -1.8435

[D-04] CH.N2: mEEH (BB REXR)
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995

CH_N2
= 1.49145 = (CH_NWINSE+CH_NINNSE) + 233.582 * SPIKE (85, 1)
(91.1023) (2. 82865)
+ 173.555 * STEP(93,1) - 2267.73
(2. 74420) (16.1762)
SUM SQ  82277.4  STD ERR  79.55562  LHS MEAN 10981.9
R SQ 0.9990 R BAR S@ 0.9988 F 3, 13 4435.44
D.W. 0.9233

[D-05] CH.N3: ®MXE (BE=REX)
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995

LOG (CH_N3)
= 0.50296 * LOG(CH_N3) [-1] + 0.34769 * LOG (CH_GDE)
(6. 88159) (6. 93395)
+0.08091 * SPIKE (84, 1)
(6.90857)
+ 0.03068 * SPIKE (85, 1) +SPIKE (86, 1) +SPIKE (87, 1) + 1.20663
(3.99173) (6.37711)
SUM SQ 0.0014  STD ERR 0.0107 LHS MEAN  9.0919
R SQ 0.9992 R BAR S@ 0.9989 F 4, 12 3806.25
D.W. 2.5574 H -2.0672

[D-06] CH_NNAG(IDENTITY) : #i3kE GEE%)
CH_NNAG
= CH_N2+CH_N3

[D-07] CH_NCIDENTITY) : miZs#& (a5
CH_N
= CH_NNAG+CH_N1

[D-08] CH_NW: E&T
ANNUAL DATA FOR
LOG (CH_NW)

18 PERIODS FROM 1978 TO 1995

= 0.72714 % LOG(CH_NW) [-1] + 0.20271 * LOG (CH_NU)

(6. 84949)

(2. 05582)

- 0.02523 = STEP(93,1) + 0.67747

(3.97746)
SUM SQ 0.0006
R SQ 0.9984
D.W. 1.7944

(5. 42019)
STD ERR ~ 0.0065 LHS MEAN

9. 4421

R BAR SQ@ 0.9981 F 3, 14 2918.38

H 0.2549

[D-09] CH_NU: mizxE (i)

ANNUAL DATA FOR

LOG (CH_NU)
= 0.60814 * LOG(CH_NU) [-1] + 0.43008 * LOG (CH_N)
(4. 45964) (2. 47658)
+0.00972 * STEP (85, 1)-STEP (89, 1) + 0.02811 * STEP (94, 1)
(2. 34904) (4.37235)
- 0.92934
(1.53183)
SUM SQ 0.0006 STD ERR  0.0070  LHS MEAN
R SQ 0.9988 R BAR S@ 0.9985 F 4, 13 2817.11
D.W. 1.3622 H 0.7319
[D-10] CH_POPR: AR (E#)

ANNUAL DATA FOR
GH_POPR/CH_POP*100

18 PERIODS FROM 1978 TO 1995

13 PERIODS FROM 1984 TO 1996

= 0.64206 * CH_POPR/CH_POP*100[-1]

9. 4862

- 1.89026 * ((CH_YHU/CH_POPU) / (CH_YHR/CH_POPR))

+ 0.84006 * SPIKE(91,1) + 29.6038

(5. 75678)

(2. 42489)

(3.11721)
SUM SQ 0.5372
R SQ 0.9890
D.W. 1.9132

(3.03728)

STD ERR 0.2443  LHS MEAN 73.5255
R BAR SQ 0.9854 F 3, 9 270.567

H -0. 0181

[D-11] CH_POPU(IDENTITY): AR (#B)

CH_POPU
= CH_POP-CH_POPR



[D-12] CH_LF: @ A AR
ANNUAL DATA FOR 21 PERIODS FROM 1975 TO 1995

DIFF (CH_LF)
= 0.22738 * DIFF (CH_POP[-16])
(4.04609)
+ 444068 * SPIKE (84, 1)+SPIKE (85, 1)
(2.96724)
+ 296.832 * SPIKE (87, 1)+SPIKE (88, 1)
(1.99673)
+ 369. 542 * SPIKE (90, 1)+SPIKE (91, 1) + 768.784
(2.58218) (8. 64340)
SUM SQ 571245 STD ERR  188.952  LHS MEAN 1216.12
R SQ 0.7544 R BAR S@ 0.6930 F 4, 16 12.2871
D.W. 3. 0560
[D-13] CH_UCIDENTITY): #¥%%&
CH_U
= CH_LF-CH_N

[D-14] CH_URCIDENTITY) : 53z
CH_UR
= CH_U/ (CH_NU+CH_U) %100

E BE&-9fidovy

[E-01] CH_RPI: /NsEpifitasn
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995

PCH (CH_RP1)
= 0.16555 * PCH(CH_YW/CH_GDP) + 0.14534 * PCH(CH_M2[-1])
(2.06209) (4.14404)
+ 0.37843 * PCH(CH_PFSP) - 5.07414 x SPIKE (79, 1) +SPIKE (80, 1)
(8.06653) (4.11480)
+ 7.69253 * SPIKE (88, 1)+SPIKE (89, 1) + 3.65783 * SPIKE (93, 1)
(5. 95429) (2.19231)
- 1.66925
(1.58723)
SUM SQ  24.9460 STD ERR 1.5794  LHS MEAN  7.9467
R SQ 0.9652 R BAR SQ 0.9444 F 6, 10 46.2881
D.W. 2.5425

[E-02] CH_CPIU: FBEEEYMIMIEE (&)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
LOG (CH_CP1U)

= 0.97900 * LOG(CH_RPI) + 0.09863 * LOG (CH_WAGE)

(22.0040) (3.74871)
- 0.03097 = SPIKE(90, 1) - 0.62677
(3. 42563) (28.0192)
SUM SQ 0.0010 STD ERR ~ 0.0084 LHS MEAN  4.3423
R SQ 0.9997 RBARSQ@ 0.9997 F 3, 14 16836.3
D.W. 1.8502

[E-03] GH_PCP(IDENTITY): FIL—% (BRHE#&)
CH_PCP
= GH_CPN/ (CH_CPR+CH_CPU) *100

[E-04] CH_PCPU: T L—% (BRH%E: #H)
ANNUAL DATA FOR 19 PERIODS FROM 1978 TO 1996
LOG (CH_PCPU)
= 0.70222 * LOG(CH_CPIU) - 0.05931 * SPIKE(78, 1)

(136. 523) (7. 95070)
+0.06813 * SPIKE(94,1) + 0.13234 = STEP(95,1) + 1.35774
(8.20501) (17.7900) (61. 6872)
SUM SQ 0.0007 STD ERR ~ 0.0069 LHS MEAN  4.4586
R SQ 0.9998 R BAR S@ 0.9997 F 4, 14 14589.0
D.W. 2. 6304

[E-05] CH_PCPR: FIL—% (BRHE: BH)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
LOG (CH_PCPR)
= 0.83132 * LOG(CH_RPI) + 0.12015 * LOG (CH_PFSP)

(25. 4125) (4.23953)
- 0.04726 = STEP (89, 1)-STEP(93,1) + 0.05040 * STEP (95, 1)
(8.73332) (4.90093)
+ 0.27589
(8. 64667)
SUM SQ 0.0008 STD ERR ~ 0.0079 LHS MEAN  4.3978
R SQ 0.9997 RBARSQ@ 0.9996 F 4, 13 10230.6
D.W. 2.4884



[E-06] CH_PIF: F7L—% (AEEERE)
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995

LOG (CH_PIF)
= 0.79872 = LOG(CH_RPI) + 0.72529 * LOG (CH_IF/CH_GDE)
(22.0652) (4. 37085)
+0.22752 * SPIKE (78, 1)+SPIKE (79, 1)
(5. 24920)
+ 0.09672 * SPIKE (84, 1)+SPIKE (85, 1)
(3. 35088)
- 0.11562 * SPIKE (88, 1)+SPIKE (89, 1) + 0.12567 * SPIKE (93, 1)
(4.19114) (3. 18835)
+ 1.95506
(5. 71556)
SUM SQ 0.0128 STD ERR  0.0357 LHS MEAN  4.5333
R SQ 0.9938 R BAR S@ 0.9900 F 6, 10 266.320
D.W. 2.1836

[E-07] CH_PEXM: @B fiHEH(FILR—2)
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995
LOG (CH_PEXM)
= 0.35161 * LOG(CH_PEXM) [-1] + 0.54635 * LOG (CH_RPI)

(3. 35406) (5.91070)
- 0.29104 * LOG(CH_RATE) + 0.12073 * SPIKE(87, 1)
(4.79731) (3.12163)
+ 0.10304 * SPIKE (90, 1)+SPIKE (91, 1)+SPIKE (92, 1) + 0. 84612
(4.28117) (1.97443)
SUM SQ 0.0114 STD ERR  0.0322 LHS MEAN  4.4615
R SQ 0.9589 R BAR SQ 0.9402 F 5, 11 51.3458
D.W. 2.2183 H -0. 7846

[E-08] CH_PGDP (IDENTITY): 77 L—4 (ERfR4ERE)
CH_PGDP = (CH_GDEN-CH_DSCN) / (CH_GDE-CH_DSC) *100

[E-09] CH_WAGE: —AH-UBIITE
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
PCH (CH_WAGE)
= 0.55219 * PCH(CH_LPNAG[-1]) + 0.91896 * PCH(CH_CPIU)
(6.71058) (13.0283)
- 9.13410 = SPIKE(81,1) - 7.35360 = SPIKE (87, 1)+SPIKE (88, 1)
(5. 34739) (5. 68103)
- 13.2092 * SPIKE(89,1) - 3.99835 * STEP(95, 1) + 4.75416
(7.57459) (2.28454) (6. 34967)
SUM S@  22.6232 STD ERR 1.5855  LHS MEAN 14.4956
R SQ 0.9793 R BAR SQ 0.9655 F 6, 9 70.9196

D.W. 2.1079
[E-10] CH_LPNAG (IDENTITY): S5@Eh&EEM GER%)

CH_LPNAG
= (CH_GDE-CH_GDP1) /CH_NNAG=*100

F. ME-®miny o

[F-01]1 CH_GTR(IDENTITY) @ BAB#SURA (BREABAN—X)
CH_GTR
= CH_TAXINCM+CH_TAXAG+CH_TAXCUS+CH_TAX0

[F-02] CH_TAXINCM(IDENTITY): #iUR (LrE: ERMEBR—X)
CH_TAXINCM
= CH_RTAXINCMx (CH_GDPN-CH_GDP1%CH_PFSP/100) /100

[F-03] CH_TAXAG(IDENTITY) : R (R4 #¥Hi: EREMBN—X)
CH_TAXAG
= CH_RTAXAG*CH_GDP1+CH_PFSP/10000

[F-04] CH_TAXCUS (IDENTITY) : FiUx (3% EREIBE~N—X)
CH_TAXCUS
= CH_RTAXCUS* (CH_IMNN<CH_RATE) /10000

[F-05] CH_TAX0: FRUR(ZDfth: ERMABAR—X)
ANNUAL DATA FOR 17 PERIODS FROM 1979 TO 1995

CH_TAX0
= - 0.16002 * CH_IFINSE[-1]*CH_PIF[-1]1/100 + 0.17943 * CH_GTR
(2.47108) (3.43307)
- 88.2882 * SPIKE(82,1) + 74.1462 * SPIKE (87, 1)
(2.46017) (2.12180)
+ 157.849 * SPIKE (90, 1)+SPIKE (91, 1) +SPIKE (92, 1)
(6. 77566)
+ 1561.400 * STEP(95,1) + 440.514
(2.81972) (19.5954)
SUM SQ 11131.1  STD ERR  33.3633  LHS MEAN 718.445
R SQ 0.9685 R BAR SQ@ 0.9496 F 6, 10 51.2917
D.W. 2.7615

[F-06] CH_GTE(IDENTITY) : BB H (BRMEN—2R)
CH_GTE
= CH_GEEC+CH_GESC+CH_GEAD+CH_GEND+CH_GEO



[F-07] CH_GBD: EFHWA (BREH: BRMBA—X) - 210.087 * SPIKE (88, 1)+SPIKE (89, 1) — 58.4640 = SPIKE (90, 1)

ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995 (13.5811) (2. 75294)
CH_GBD+CH_GBF + 179.621 * SPIKE(94, 1) - 142.030
= 1.06048 * (CH_GTE+CH_GEPL-CH_GTR) (7.51443) (16.9373)
(61.7598) SUM SQ 5369.72  STD ERR  20.3238 LHS MEAN 341.617
- 106. 112 * SPIKE (79, 1)+SPIKE (80, 1) R SQ 0.9981 RBAR SQ@ 0.9975 F 4, 13 1686.22
(5. 05739) D.W. 1.2742
- 82.6392 * SPIKE (91, 1)+SPIKE(92, 1) + 21.7836
(3.90134) (2.37302) [F-11] CH_COS: ERMEARITER (X8 )—H—~41: BIEXR)
SUM SQ 10476.4  STD ERR  27.3553  LHS MEAN 350.787 ANNUAL DATA FOR 19 PERIODS FROM 1978 TO 1996
R SQ 0.9967 R BAR S@ 0.9960 F 3, 14 1400.23 DIFF (CH_COS)
D.W. 1.8994 = 0.16374 = CH_M2 + 705.142 = SPIKE (85, 1) +SPIKE (86, 1)
(90. 2996) (5.92861)
[F-08] CH_GEPL: EHXH (FIFXLEF: BRUBN—A) + 505.412 * SPIKE(90, 1) + 5214.35 * SPIKE (94,1) + 107.800
ANNUAL DATA FOR 19 PERIODS FROM 1978 TO 1996 (3. 14300) (30. 7210) (2.13380)
DIFF (CH_GEPL) SUM SQ 339182  STD ERR  155.651  LHS MEAN 3293.01
= 0.03035 * CH_INR*(CH_GBD[-1]+CH_GBF[-1]) - 91.9616 = SPIKE (89, 1) R SQ 0.9989 R BAR S@ 0.9985 F 4, 14 3090.30
(14.2053) (3.43016) D.W. 1.9950
+91.5282 * SPIKE(92,1) - 319.872 * SPIKE(93, 1)
(3. 39969) (10. 9300)
- 77.5524 * SPIKE(94,1) + 81.7116 * STEP(96, 1) - 5.60729 6. EfrxInvy
(2.58708) (2. 40303) (0.72184)
SUM SQ 7952.43  STD ERR  25.7430 LHS MEAN 69.1737 [G-01] CH_EXMN(IDENTITY) : Bttt (EIFSIRZ A—XR)
R SQ 0.9764 R BAR SQ 0.9645 F 6, 12 82.6185 GH_EXMN
D.W. 1.9852 = CH_REXMN+CH_EXMCN/100
[F-09] CH_TDPU: Br&%&E (WWRE: £EA~N—X) [G-02] CH_EXSN: 4+—EXMDZH
ANNUAL DATA FOR 15 PERIODS FROM 1981 TO 1995 ANNUAL DATA FOR 26 PERIODS FROM 1970 TO 1995
DIFF (CH_TDPU) CH_EXSN
= 0.41093 * (GH_YHU+CH_INR*CH_TDPU[-1]/100) = 0.15190 = CH_EXMN
(87. 3481) (63.9371)
- 274.579 * SPIKE (88, 1)+SPIKE (89, 1) - 1315.57 * SPIKE (89, 1)+SPIKE (90, 1) +SPIKE (91, 1)
(4.30768) (6.23361)
- 562.422 * SPIKE (92, 1)+SPIKE (93, 1) - 419.605 +1635.79 * SPIKE(94,1) - 712.153
(8.55484) (12.5776) (4.27957) (7.61188)
SUM SQ 75227.7 STD ERR  82.6975 LHS MEAN 1545. 61 SUM SQ 2379542  STD ERR  328.878  LHS MEAN 4046. 96
R SQ 0.9986 R BAR S@ 0.9983 F 3, 11 2667.36 R SQ 0.9962 R BAR SQ@ 0.9957 F 3, 22 1910.95
D.W. 1.9042 D.W. 1. 7457

[F-10] CH_TDPR: Fr&i&E (RHREH: £ER—X)
ANNUAL DATA FOR 18 PERIODS FROM 1978 TO 1995
DIFF (CH_TDPR)
= 0.12259 * (CH_GDP1*CH_PFSP/100+CH_INR+CH_TDPR[-11/100)
(67.7741)



[G-03] CH_EXMCN: Bsgii GEBER—X)
RESTRICTED ORDINARY LEAST SQUARES
LOG (CH_EXMCN/CH_PEXM)
= + 3.93787 * LOG(WO_GDP) - 0.44613 * LOG (CH_PEXM/WO_PGDP)

(7.66826) (1. 55542)

- 0.29742 * LOG (CH_PEXM/WO_PGDP) [-1]
(1.55542)

- 0.14871 * LOG (CH_PEXM/WO_PGDP) [-2]
(1. 55542)

+0.19944 * SPIKE (81, 1)+SPIKE (82, 1)
(3.11754)

+ 0.09355 * SPIKE (83, 1)+SPIKE (84, 1)
(1.78185)

- 0.16454 * SPIKE (88, 1)+SPIKE (89, 1)+SPIKE (90, 1)
(4.15180)

+ 0.28984 * STEP(94,1) - 32.8966
(5. 50605) (6. 42496)

POLYNOMIAL LAGS:

LOG (CH_PEXM/WO_PGDP)

FROM 0 TO 2 DEGREE 1 FAR
SUM SQ 0.0266  STD ERR 0.0544  LHS MEAN  6.2376
R SQ 0.9945 RBAR S@ 0.9908 F 6, 9 270.213
D.W. 2.1274

[G-03] CH_EXMCN: Bt GERA~N—R): &R
RESTRICTED ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
LOG (CH_EXMCN/CH_PEXM)
= 0.25311 = LOG(CH_IFF) - 0.39391 * LOG (CH_PEXM/WO_PGDP)
(19.6642) (2.06222)
- 0.26261 * LOG (CH_PEXM/WO_PGDP) [-1]
(2.06222)
- 0.13130 * LOG (CH_PEXM/WO_PGDP) [-2]
(2.06222)
- 0.12724 * STEP (84, 1)-STEP (89, 1) + 0.19068 * STEP (95, 1)
(4.18939) (3. 15244)
+5.11989
(36. 5469)
POLYNOMIAL LAGS:
LOG (CH_PEXM/WO_PGDP)
FROM 0 TO 2 DEGREE 1 FAR
SUM SQ 0.0302 STD ERR 0.0524 LHS MEAN  6.2376
R SQ 0.9937 RBAR SQ@ 0.9915 F 4, 11 435.976
D.W. 2.4975

[G-04] CH_IMMN(IDENTITY) : BA#A (EIFRURZR—R: #5)
CH_IMMN = GH_RIMMNxCH_IMMCN/100

[G-05] CH_IMSN: 4—E XD X (AFRIREZR—X)
ANNUAL DATA FOR 23 PERIODS FROM 1973 TO 1995

CH_IMSN
= 0.14970 = CH_IMMN - 2317.47 * STEP (85, 1)-STEP (92, 1)
(35.7108) (12. 3650)
+ 2654.02 * SPIKE(94,1) + 9462.06 = STEP(95,1) - 715.365
(5. 48979) (18.0316) (5. 28472)
SUM SQ 2365250  STD ERR  362.495 LHS MEAN 4432.39
R SQ 0.9970 R BAR SQ@ 0.9964 F 4, 18 1504.63
D.W. 2.7862

[G-06] CH_IMMCN(IDENTITY) : Bf#iA GEBE~N—X: #&H
CH_IMMCN = CH_IMMC7N+CH_IMMCO689N

[G-07] CH_IMMCTN: B A GERIN—R: #Hh)
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
LOG (CH_IMMC7N+CH_RATE/CH_PIF)
= 2.18081 * LOG(CH_GDE) - 0.52449 = SPIKE (82, 1)+SPIKE (83, 1)

(30. 5538) (6.02270)
+ 0.50500 * SPIKE (85, 1)+SPIKE (86, 1) — 0.24597 * STEP(95, 1)
(6. 43700) (2.11159)
- 14.6943
(21.2218)
SUM SQ 0.1103  STD ERR 0.1001  LHS MEAN 6. 3080
R SQ 0.9936 R BAR SQ 0.9913 F 4, 11 426.072
D.W. 2.1074

[G-07] CH_IMMC7N: EAZaA GERAN—R: ) 1 KB
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
LOG (CH_IMMC7N*CH_RATE/CH_PIF)
= 1.73026 = LOG(CH_IF) - 0.61084 * SPIKE (82, 1)+SPIKE (83, 1)

(26.1893) (6. 49045)
+ 0.56976 * SPIKE (85, 1)+SPIKE (86, 1)
(6.47399)
+0.24277 = STEP (89, 1)-STEP (93, 1) + 0.20892 * SPIKE (94, 1)
(3. 47362) (1. 62716)
- 8.23460
(14. 8952)
SUM SQ 0.1186 STD ERR ~ 0.1089  LHS MEAN  6.3080
R SQ 0.9931 RBARS@ 0.9897 F 5 10 288.078

D.W. 2.5720



[G-08] CH_IMMCO689N: EA#iA GEEIN—R: HEALLSH)
RESTRICTED ORDINARY LEAST SQUARES
ANNUAL DATA FOR 16 PERIODS FROM 1980 TO 1995
LOG (CH_IMMCO689N/CH_P I MM)
= 1.19654 * LOG(CH_GDE) - 0.24082 * LOG (CH_P IMM«CH_RATE/CH_RPI)

(14.3128) (3. 98063)
- 0.16055 * LOG (CH_PIMM«CH_RATE/CH_RP1) [-1]
(3. 98063)
- 0.08027 * LOG (CH_PIMM«CH_RATE/CH_RP1) [-2]
(3. 98063)
+0.19232 * SPIKE(85,1) + 0.09117 * SPIKE (88, 1)+SPIKE (89, 1)
(4.47474) (2. 83364)
- 0.12362 * SPIKE(90,1) - 5.02326
(2. 86576) (7. 63844)

POLYNOMIAL LAGS:

LOG (CH_P IMM«CH_RATE/CH_RP1)

FROM 0 TO 2 DEGREE 1 FAR
SUM SQ 0.0167  STD ERR 0.0409 LHS MEAN  5.9016
R SQ 0.9932 R BARSQ 0.9898 F 5, 10 292.699
D.W. 2.2876

[G-09] CH_TB(IDENTITY): EHIRXZ
CH_TB
= CH_EXMN-CH_IMMN

[6-10] CH_GSB(IDENTITY): BAE - H—ERINX
CH_GSB
= GH_EXMN-+CH_EXSN- (CH_IMMN-+CH_IMSN)
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(9  CH_GESC EX #HEaX#%E ERHBA—R) Yuan100M CSY
(10)  CH_IFF EX BFREERE(RE: NEEERE) Yuan100M CSY/TRN
(1) CH_INR EX EHELSH (1EL0) % csY
(12) CH_LANDDA  EX BEIRKEWKHMER 1000ha  CSY
(13) CH_LANDSO  EX m{EMiiErEmiE 1000ha  CSY
(14)  CH_M2 EX THr—4TS4 M2 TRAY—H—~o: #IE  Yuan100M IFS

%)

(15)  CH_PFSP EX EEIEKINEmETES 1990=100 CSY/TRN
(16)  CH_PIMM EX SABEMIER(FILR—X) 1990=100 WT
(17)  CH_POP EX AO (#Fh 10T csY



